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1) In the matrix 
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, write : 

a. The order of matrix,      

b. the number of elements,     

c. write the elements 2324332113 ,,,, aaaaa  

2) Construct a 22  matrix,  ijaA  , whose element are given by:    

a. 
2

)( 2ji
aij


        

b. 
4

)2( 2ji
aij


  

3) If the matrix has 24 elements, what are the possible order it can have?  What, if it has 13 

elements. 

4) 
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. Find the value of a, b, c, x, y and z   

5) If 






 






cossin

sincos
A , then for what value of   is A  an identity matrix? 

6) Simplify    
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7) If 
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A  and 
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B , then find the matrix X  such that  BXA 532  .   
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8) If   3211 A  
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B , Find AB and BA. 

9) If 








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00
A , find 

16A  

10) If matrix
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


22

22
A and pAA 2 , then write the value of p. 

 
 

 

 

 


